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Warm-up

trim 0. B, BE, Eif yard n. Hij

well-to-do adj. /PEERY, B#HH exhausted adj. i HIRH
spot ». %A stress v. R
construction site EHH THL self-governing adi. HIEW
undergraduate n. APHE postgraduate n. R4
specialized ad. %K, TR copyright n. JRAL, FE
be entitled to - I BEAE , H AN property n. Wi, PiAY
wopical odj W) eventually adv.  BUR, 4T
thanks to 1 F, £5  tasty adj. HFEZEY, WIOIEY
scene n. i, 1R ~ perceive v. R, B3
rotori FRZEMA ~ rushhour n ;gmsnﬁj

Passage 1

Questions 1 ~3 are based on the passage you have just heard.

1. A. Anxious and worried. B. Proud and excited.

C. Nervous and confused. D. Inspired and confident.
2. A. His father scolded him severely.

B. His father took back the six dollars.

A bad conscience is a snake in one’s heart. R B . —l
2




His father made him do the cutting again.

His father cut the leaves himself.

One can benefit a lot from working with his father.
Manual laborers shouldn’t be looked down upon.
One should do his job earnestly. \

D. Teenagers tend to be careless.
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Passage 2
Questions 1 ~4 are based on the passage you have just heard.

1.

>

Because there are no signs to direct them.

Because no tour guides are available.

Because all the buildings in the city look alike.

Because the university is everywhere in the city.

They set their own exams.

They select their own students.

They award their own degrees.

They organize their own laboratory work.

Most of them have a long history.

Many of them are specialized libraries.

They house more books than any other university library.
They each have a copy of every book published in Britain.
Very few of them are engaged in research.

They were not awarded degrees until 1948.

They have outnumbered male students.

They were not treated equally until 1881.
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Passage 3
Questions 1 ~3 are based on the passage you have just heard.

1. A. To protect persons and property.

Did you know
Never too late to repens. Hte M4, Rk, /1T W) 77 0%




To collect taxes.

To teach and train citizens.

To save natural resources for future use.
By selling services that make life comfortable.
By selling land containing oil.

By selling public fands.

By selling coal and other natural products.
Environmental pollution and protection.
Taxes and services for the public.

Police efforts to protect people.

People’s attitude toward taxes.
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Passage 4

Questions 1 ~3 are based on the passage you have just heard.

1. A. It can be cooked in many ways.

B. It is delicious but inexpensive.

C. It gives higher yields than other grain crops.

D. It grows easily in various conditions.
2. A. Fried potatoes. B. Tomato juice.

C. Sweet corn. D. Chocolate beans.
3. A. They led to the discovery of America.

B. They made native American foods popular.

C. They brought great wealth to Spain.

D. They made native American life styles well-known.
Passage 5

Questions 1 ~3 are based on the passage you have just heard.

1. A. Because some have better eyesight.
B. Because they are from different countries.

A burni child dreads the fire, — IR, T T 18 7 Hs
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Because perceiving goes on in people’s minds.
Because they cannot agree about things.

Why Do Psychologists Do the Experiment
Different People Have Different Eyesight
Learning about Our Minds through Science

How to Become a Psychologist

The study of perception is going on now.
Perception does not involve psychological factors.
Different people have similar perception.
Psychologists do not yet know how people see.
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Passage 6
Questions 1 ~3 are based on the passage you have just heard.

1.

>

His friend gave him the wrong key.

He didn’t know where the back door was.
He couldn’t find the key to his mailbox.

It was too dark to put the key in the lock.

it was getting dark.

He was afraid of being blamed by his friend.
The birds might have flown away.

His friend would arrive any time.

He looked silly with only one leg inside the window.
He knew the policeman wouldn’t believe him.
The torchlight made him look very foolish.
He realized that he had made a mistake.

B.
C.
D.
A.
B.
C.
D.
A.
B.
C.
D.

A A chain is no er than its weakest link. —3R ¥ 55 , & B bW, /—hRH, /T H,




Passage 1

Questions 1 ~3 are based on the passage you have just heard.

1. A. To show off their wealth. B. To feel good.

C. To regain their memory. D. To be different from others.
2. A. To show your care for them.

B. To play games with them.

A clean hand wants no washing. %R % %, ER B, /& EREY T4, |
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D.

To send them to the hospital.

To make them aware of its harmfulness.
They need care and affection.

They are fond of round-the-world trips.
They are mostly from broken families.
They are likely to commit crimes.

Passage 2

Questions 1 ~3 are based on the passage you have just heard.

1.

o
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Because the bird couldn’t repeat his master's name.
Because the bird screamed all day long.

Because the bird uttered the wrong word.

Because the bird failed to say the name of the town.

The cruel master. B. The man in the kitchen.
The pet bird. D. The fourth chicken.
The bird had finally understood his threat.

The bird managed to escape from the chicken house.

The bird had learned to scream back at him.

The bird was living peacefully with the chickens.

Passage 3

Questions 1 ~4 are based on the passage you have just heard.

1. A
2. A.
C.
3. A
4. A.
C.

A basket. B. A cup. C. An egg. D. An oven.
To let in the sunshine. B. To serve as its door.

To keep the nest cool. D. For the bird to lay eggs.
Branches. B. Grasses. C. Mud. D. Straw.
Some are built underground. B. Some can be eaten.

Most are sewed with grasses.  D. Most are dried by the sun.

clear conscience is a soft pillow. 7} 48, | ALK,




Passage 4

Questions 1 ~3 are based on the passage you have just heard.

1.
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Because he led his teams to many championships.
Because he set as many as 65 different records.
Because he still played the game after he retired.
Because he didn’t stop playing even when he was seriously injured.
He lost the final chance to win a championship.

He was knocked out during one contest.

He broke a bone in the wrist during a match.

He was awarded with a $1. 5 million house.

To break the previous records.

To buy a luxury house.

To win one more championship for his team.

To play against the New York team once again.

Passage 5 .

Questions 1 ~3 are based on the passage you have just heard.

1.

A.
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To enjoy a good story. B. To see the actors and actresses.
To experience an exciting life. ~ D. To escape their everyday life.
They feel that everything on the screen is familiar to them.

They are touched by the life stories of the actors and actresses.

They try to turn their dreams into reality.

They become so involved that they forget their own problems.
Because they are well-made and the stories are interesting.

Because the heroes have to cope with many problems and frustra-

tions.

C.

Because the characters in the movies are free to do whatever they

like.

Acoc is valiant ¢;n his own dunghill. AR & X
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D. Because good guys in the movies always win in the end.

Passage 6
Questions 1 ~4 are based on the passage you have just heard.

1. Because the bottle was empty and useless.

Because he wanted to lighten the load of his small plane.
Because the bottle might be useful to the native Africans.
Because he wanted to amuse the local tribe’s people.

A message from the outside world.

A warning from the gods.

A symbol of misfortune.

A gift from the gods.

The local Africans are peace-loving people.

Soda bottles are very precious in some remote areas.

A trivial thing may sometimes bring about undesirable consequences.
Caution must be taken in introducing new technology.
They thought that the gods were all crazy.

They were isolated from the outside world.

They enjoyed living in the peaceful desert.

They worshipped the gods all the more after the incident.
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Passage 1

Questions 1 ~4 are based on the passage you have just heard.

1. A. Her unique experience.
C. Her favorite job.

2. A. Authority.
C. Good luck.

3. A. She will live an empty life.

Did you know?_

B. Her future prospects.

D. Her lonely life.

B. A good relationship.

D. Independence.

B. She will work in a restaurant.

The fire is the test of gold, adversity of strong man.

A KA RAEEEE, B
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She will remain single. D. She will earn a lot of money.
She should find a good job.

She should open a small restaurant.

She should have more control over her life.

D. She should get married.
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Passage 2

Questions 1 ~3 are based on the passage you have just heard.

1. A. In day care centers where little children were taken care of.
B. In areas in Chicago where poor people lived.
C. In places where hot lunch was provided for factory workers.
D. In schools where free classes were organized for young people.
2. A. For young people and adults. B. For immigrants.
C. For factory workers. D. For poor city children.
3. A. Jane Adams’ contributions to society.
B. Jane Adams’ struggle for women’s liberation.
C. Jane Adams’ life story.
D. Jane Adams’ responsibility for the poor.
Passage 3

Questions 1 ~3 are based on the passage you have just heard.

1. A. About 45 million. B. About 50 million.

About 5. 4 million. D. About 4. 5 million.

The actors and actresses are not paid for their performance.

The actors and actresses only perform in their own communities.
They exist only in small communities.

They only put on shows that are educational.

It provides them with the opportunity to watch performances for free.
It provides them with the opportunity to make friends.

C.
A.
B.
C.
D.
A.
B.

?

ro is known in the time of misfortune. B #vi& F AR
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C. It gives them the chance to do something creative.
D. It gives them a chance to enjoy modern art.

Passage 4
Questions 1 ~3 are based on the passage you have just heard.

1.

>

They are usually more clever.

They get tired easily.

They are more likely to make minor mental errors.
They are more skillful in handling equipment.

It had its limitations.

Its results were regarded as final.

It was supported by the government.

It was not sound theoretically.

Their lack of concentration resulting from mental stress.
The lack of consideration for them in equipment design.
The probability of their getting excited easily.

Their slowness in responding.
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Passage 5
Questions 1 ~3 are based on the passage you have just heard.

1. A. To find out whether they take music lessons in their spare time.
B. To find out whether they can name four different musical instruments.
C. To find out whether they enjoy playing musical instruments in school.
D. To find out whether they differ in their preference for musical instru-
ments.

2. A. They find them too hard to play.
B. They think it silly to play them.
C. They find it not challenging enough to play them.
D. They consider it important to be different from girls.

A lazy youth, a lousy age. VX% fy 3 X k453,
12




